13000 GeV pp tt

';' _' I T I T I T | T I I I T I T T I I T I_
w —
L:,D u ttHT (ATLAS ttbar) .
2:—‘?: -2 | ]
o) E';]:,O — ]
i)
(e B n
U — p—

= »K'M\u\h\ B

[EEN
o

w

I IIIIII|
‘\

m ATLAS
—a— Pythia 8.308 default
Pythia 8.308 tune-1

i

mcplots.cern.ch [arXiv:1306.3436]

_4 | B
10 E Pythia 8.308 tune-2c¢ E
B Pythia 8.308 tune-2m .
| | e | | | ! | | | |
— I ' ' | ' 1 | | | | | =
2 b 3
) L =
< - .
= B g -
< 1 Y X / ~3 /A\ _ /L

: e e §
s [ & ]
D: B —
05 — |

: | . . | .

500 1000

Rivet 3.1.10, = 2.1M events

N

0.5



	Contents
	Page 1


